Roll No:-
Sem-V Diploma Exam 2023 (Odd)
(Civil Engineering. / Civil (Rural) Engineering.) (Theory)
[Time: 4 Hours] Estimating and Costing (1615503) [Max. Marks: 70]

- All questions are compulsory. (H‘l-ﬁ Uy G{ﬁlﬁlﬁél)
- Marks are mentioned on the right side of each question. (3/® I+ U9 & T18 3iR sifdd fH g 1)
- Assume data suitably, if required.

Group (A) (YU -¥)

Q.1  Choose the most suitable answer from the following options. (1*20=20)

(Taifere Iude fawen &1 gaHx o) :-

i The approximate ratio of cost of labour to the total cost of the building is
(M DI F ARTT I 47 B! AT BT AT U 8 1)
(@1:10 (b)1:4 (©1:1 (d)6:10

ii. A revised estimate is prepared if the sanctioned estimate exceeds

(i Uraha o 31fYe B R AN UTaeh e daR faar S 71)

@2% (b) 5% (c)8% (d) 10 %
iii. The unit of measurement for concrete work in R. C. C. is in
@R, . ). # Hplec B & T AU o1 35TS B)
(a) Sq m (& Hiev) (b) Cu m (g Hier) (©)10Sqm (10 T HER)  (d) 10 Cu m (10 TF HiR)
iv. Thickness of plastering is usually
(WReR 1 HIeTs THIa: Bl 81)
(a) 6 mm (6 71 ) (b) 12 mm (12 fir ) (c) 25 mm (25 T8 7 (d) 40 mm (40 1 )
V. In analysis of rates, contractor profit is taken as :
@R\ &1 fazawur § IHeR & o foran S g 1)
@ 1% (b) 5% (c) 10% (d) 20 %
Vi. Number of brick of size 20 cm x 10 cm x 10 cm required for 100 cubic meter of masonry wall is
(100 T Hiex TS aTeft EaR & forw 3mazaes 20 AT x 10 AHY x 10 JHY PR B 521 DI TS 1)
(a) 500 (b) 5000 (c) 50000 (d) 500000
vii.  The measurement is'not made in square meters in case of
( & Ha § A9 o Hex § T fopar S 21y
(@ D.P.C. (b) R. C. (;hhajja (c_) Concrete Jaffries (d) Form works
St Ut 3t CCIRSEEACETS ) (SPshIC ST CRGIEL)
viii.  The centre line method is specially adopted for estimating
(& Yamad & o Ry U § g 391 fafer ouers Sl 1)
(a) octagonal building (b) hexagonal building (c) circular building (d) all the above
(3FHIUT HaA) (VDI o) (@TIPR Ha-) (SW & Tl
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iX. The useful part of liveable area of a building is also known as
(Pt HaT & T TG &F BT ITUNT HIT i Heardr g1)

(a) Carpet area (b) Circulating area (c) Horizontal circulation area  (d) Pilth area

IR SR E) (T &)

X. The valuation of a bU|Id|ng depends upon
frdt v e e wRaRar g
(a) its structure and durability (c) quality of material used
(@D YT 3R W) (SRIard ATt Y T[OTar)
(b) size, shape and type (d) all the above
(AT, 3MHR 3R THR) SR & T
Xi. Sludge from a specific tank should be removed in
QPP ¢F I DTS Bl g T IR
(a) 1to 2 years (b) 3to 5 years (c) 3to 4 years (d) every year
1929 H) @95 IY H) @49 H)
xii.  The standard width of asbestos cement corrugated sheet is
(TR WiHe AR e & AF® dIsls §)
(a) 0.9 m (0.9 HIR) (b) 1.0 m (1.0 HleR) (c) 1.05 m (1.05 HIR) (d) 1.25 m (1.25 HleR)
xiii. ~ The volume of the cement required for 10 m? of brick work in 1 : 6 cement mortar is approximately equal to
(1 : 6 e AR & 10 FAF Her 52 & B & AT 3awads iHe S AET T SRR §)
(@) 3/7md (b) 3/6 m3 (c)3/4md (d) 3/5m3

xiv.  For brick work, no deduction is made for the area of opening up to

(g B & fAIe, e & &9 & fiu oI weKdt gl &t ol 8)
(a)0.1Sqm (01T HER)  (b)0.2Sqm (0.2 Hiex) (c) 0.5 Sqm (0.5 HIex) (d) 1 Sqm (1 T HIeR)

XV. The form used in public work, for measurement book is

(TS STl § A9 R & o ugad U §)
(@) Form 22 (U4UA 22) (b) Form 23 (UUA 23) (c) Form 21 (U4A 21) (d) Form 24 (U= 24)

xvi.  Degree of accuracy for Areas in estimating construction work is

(rafor B & Uraber & &5 & forg aRgredr Bt Hife 8 )

(2) 0.01Sgm (b) 0.01 Cum (c) 0.01 Metre (d) 0.001Sgm

(0.01 T Hier) (0.01 I Hier) (0.01 HIeR) (0.001 &

xvii.  The expected-out turn (cubic metre) of reinforced brick work per maron per day is

e TfErRe ufa fam veafea fams o &1 sniféd Iare @ dier) g1)
@ 1 (b) 3 )5 (d) 10

xviii.  The volume of cement in one bag is
(@S 1 H HiHe BT 3madq o)
(a) 0.050 m? (0.050 T HIeR) (c) 0.067 m® (0.067 T HIT)
(b) 0.025 m? (0.025 T HIeR) (d) 0.035 m? (0.035 T HIe)
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XiX.

Indicating works left in excavated trenches to facilitate the measurement of borrow pits are known as

(@ 7Y ST & HIY BT YAUSHS a1 & [ W T @ea A3 WHH BISAddl_ wud
ST SITdT B)

(a) Jambs (‘@ﬁf) (b) Posts (@IE) (c) Tell —tales (é?f — é?\‘:l) (d) None of the above (stlﬁ | ﬁ'sc afy '_-@)

XX.

Most reliable estimate is

Y fayg-g urgs e B)

(a) Detailed estimate (b) Preliminary estimate (c) Plinth area estimate (d) Cube rate estimate

(fa¥qd Urden ) CINE R ICEINE) (@Y &ahd Uadha) (9 &R UIgema)

Q.2

Q.3

Q.4

Q.5

Q.6

Group (B) (JU -d)

State the importance of detailed estimate in context to civil construction. 4
(&faa fmm & Teu & fovgd Uredhad &1 Hed 9digd)
OR (3fydm)

List the types of detailed estimate and explain anyone. 4

(O UTadh e & UHR &1 et a4 3R [Hdf T ! guem )

List the various factor affecting rate analysis. 4

(@ fa=evoT @ gUTfad o ardt fafid SRt 3 gt a1 )
OR (37a)

Define rate analysis and state its purpose. 4

(@ TaQIv0T ST gRHTIT B qUT SUPT I£- Fard 1)

State the provision to be made in detailed estimate for contingencies and work charge establishment. 4
(SHHDH A3 Td BT YUR RITYT 5 fakgd Urdep e § fhd &1 d1el Ura e adid 1)
OR (3fydm)

List the different methods used for calculation of earth work quantities for a road and canal construction 4
work.

(TS 3R Fex 0T 1l o ferg et obt AT ot 7orAT o forw IuaT ot S faftret fafemt ot et
cEiie)

State the difference between plinth area and carpet area. 4

(i T SR HRUC TRAT & & 3Rk Il )
OR (31T

The cost of construction of Govt Polytechnic Building is 2 Cr for a capacity of 500 students and area of 4
construction about 2000 m?. Prepare approximate estimate of a newly proposed of govt Poly Building for
1200 students with area of 5000 m?.

(500 BT BT &HAT & foTT WRBRY Ulfere a1 YT & AT B aNTd 2 RIS g 3R Ao &
ST THIT 2000 TFT HIER §, 1200 BT & A 5000 T Hiex P AHd dTel 7Y UETad TRDBRY
giferefare Ha- &1 SFIHTd UTadh e daR ®1 )

State the rules of deduction for openings in masonry work as per IS 1200. 4

@ R forE & # R & forg it & fom sand )
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Q7

Q.8

OR (31YdT)

State the rules for making deduction in plastering and pointing work.

(TR U9 @isfen srf & werdt & a9 9di )
Group(C)(‘gq-'\‘ﬂ)

Prepare analysis for brick work in super structure (1: 5) proportion. Assume 10 m? brick work. Nominal size
of brick 20 x 10 x 10 cm

(AR (1: 5) U & Se RS 3 oy fIzawor duR 631 10 T Hiex Se RAE A | $e @
3THR 20 x 10 x 10 JHI B 1)

OR (31YdT)

Prepare rate analysis for 15 mm thick cement plaster (1: 5) in proportion. Assume area of plaster 500 m?.
(15 1 1t Ae e WRex (1: 5) % 3T | &R fIRAN0T qUR 61 | WReR &I &A%d = 500 T
HicX A o)

Prepare a detailed estimate of a part of wall of a building from the given plan and section general
specification. (Fig I and Fig II)

0] Foundation concrete shall be of lime concrete

(i) Foundation and plinth shall be of 1% class brick work in lime mortar.

(iii) Damp proof course — 2.5 mm C. C. 1: 1% : 3 with water proofing compound.

(iv)  Super structure — 1% class brick work in lime motar

(V) Wall finish — Inside wall 12 mm cement plaster 1 : 6 and white washed 3 coats.
Out side wall 12 mm cement plastered 1 : 6 including 10 cm below ground level and finished with two coats
of colour wash over one coat of white washing.

@1 T8 TS 3R SFHFT & I fafdwr fadt 1 3iR fodt 1 9 ot o &t flar & we fe &1
[ UTah e daR He |

()  id dHebic I b Dhebic BT BT

Giy g 3R i g7 & TR A gyH 9ot &1 S BT 1™ g

iy SHYH B - 250 I AL -1: 1% 3 IR YT HURKEE F Ay

(v) JIREFR — I & TRTH TuH 9ot Bt 2 & HM

(v)  GTlOR P gelde — dlaR & $fer 12 fonft e wreR 1 : 6 3R Thdiaq dic
631 SaR W 12 iyt Wide ¥ 1 : 6 w@Rex fovan T g, forw ot wR 10 9+ - +ft =nfia 8
3R FHEIHIV & T PIc & HUR HeR alY & gl Hie AL W )
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Estimate the quantities of brick work and plastering required in a wall of 6 m long, 4 m high and 30 cm thick.
Calculate also the cost if the rate of brick work is Rs. 370 per cum and plastering is Rs. 20 per sgm.

(6 Hiex <ell, 4 Hicx St 3R 30 ! HicT fiaR H 3MTawqeh ¢ b HH 3R W Pl HEAT DT
:ﬁ@ﬂﬁajg,aﬁ&%mﬁasmuﬁrwﬁa%aﬁ?wﬁazouﬁrmﬁa%aﬁw
U R )

Mention measurement of work of following item of work as per 1S 1200.

(i) brick work (iii) Cement-Concrete grill work (v) Pipe

(i) R.C. C. (iv) Wash basin (vi) Railing

(1S 1200 & 3FIAR BT B FHRIRIT TG & B HT AT Fd1g

(i) 3¢ 9b (iii) THe Hole BOrd &1 HH (v) OIS
(ii) 3R, T, 4. (iv) AT IRMA (vi) 3fei)
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OR (31YdT)

Write short notes on the following term
0] Typical bay method

(i) Service unit method

(iti)  Approximate estimate
afafad ug R i femfort ford|

Gy TRy« fafy

(i) 91 3PTs Afd

(i) SHIAT UIdha)

Q.10 Work out quantity of following items for septic tank having internal dimension 1.8 m x 4.2 m and height 1.6

m, top of slab of specific tank is 20 cm above G. L. Assume suitable data. (Fig A)
(ii) Plain Cement Concrete (1 : 2 : 4) in 20mm thick

(i) Earthwork in excavation

(3R 3Ty 1.8 HieR x 4.2 Hiex 3R SdTs 1.6 Hiex ardl WfY® & & forg FAuferfad A o A
Fuffed &% | AP <& & ufear &1 M o Ta. T 20 T SR © | Sugad ST AF T | (i) GaTs | gar
&1 B (ii( 20 Tt Hiers & grer WHe dbie (1: 2 4), 20 A diers #)

L g-24m ;'
"
/ o-2wvn Hick
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OR (31YdT)

Calculate the quantities of following items for septic tank size 1.8 m x 5.40 m and height =2.0 m 6
0] M15 slab of 12 cm thickness
(i) BB masonry

(AP® TP ATHR 1.8 Hiex x 5.4 HeR 3R SHaATS = 2.0 Hiex & forg FofaRaa awgasil &t aen o
TUAT B3| (i) 12 TH AlCTs &I TH 15 afedT (i) ot o [AE)

l; Q= TMwm

o 3 ik,
— [ G

L= o
). g% S
Ei I-§vn >
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ol Tochien |
Q.11 Calculate the material required for 5 m® PCC of grade M25 (1:1: 2) 6
P8 TH 25 (1:1:2) & 599 Hiex Ul It It & T 31axae Al &1 T0ET 61 1)
OR (31Ydm)
Calculate the quantity of cement, fine aggregate and coarse aggregate for 100 m3. Cement Concrete having 6

proportion M20.

(&ﬂq@ﬁmzoaﬁmomrﬂaxﬂﬂ?m$m¥ﬂﬂtWﬂﬁaﬁsﬁ?m%agwq?ﬁumaﬁ
TUHT H3 )

%k %k %k %k k
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